

Differential Subordination of Meromorphically p -Valent Analytic Functions Associated with Mostafa Operator

Waggas Galib Atshan¹ and Assra Abdul Jaleel Husien²

Department of Mathematics
College of Computer Science and Mathematics
University of Al-Qadisiya, Diwaniya, Iraq

¹ waggashnd@gmail.com, waggas_hnd@yahoo.com, ² asra.alsade@yahoo.com

Copyright © 2013 Waggas Galib Atshan and Assra Abdul Jaleel Husien. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

In the present paper, we introduce a subclass $\Sigma_{p,\eta}^\alpha(\mu; a; h)$ of meromorphically p -valent analytic functions. We obtain main results of this subclass related with differential subordination. Also we study integral operator and convolution properties of our class.

Mathematics Subject Classification: 30C45

Keywords: Analytic functions, p -valent meromorphic functions, Differential subordination, Hadamard product, Mostafa operator

1 Introduction

Let Σ_p be the class of p -valent meromorphic functions of the form,

$$f(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p} z^{k-p}, \quad (p \in \mathbb{N} = \{1, 2, \dots\}), \quad (1)$$

which are analytic in the punctured open unit disk $U^* = \{z \in \mathbb{C} : 0 < |z| < 1\}$. For functions $f \in \Sigma_p$ given by (1) and $g \in \Sigma_p$ defined by

$$g(z) = z^{-p} + \sum_{k=1}^{\infty} b_{k-p} z^{k-p}, \quad (p \in \mathbb{N} = \{1, 2, \dots\}),$$

we define the convolution (or Hadamard product) of f and g by

$$(f * g)(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p} b_{k-p} z^{k-p}. \tag{2}$$

For functions f and g analytic in $U = U^* \cup \{0\}$, we say that g is subordinate to f in U , denote by $g \prec f$, if there exists a Schwarz function $w(z)$, which (by definition) is analytic in U with $w(0) = 0$ and $|w(z)| < 1$ ($z \in U$) such that $g(z) = f(w(z))$ ($z \in U$). Furthermore, if the function $g(z)$ is univalent in U , then we have the following equivalence relationship holds true (see [2] and [7]),

$$g(z) \prec f(z) \Leftrightarrow g(0) = f(0) \text{ and } g(U) \subset f(U).$$

Let A be the class of functions of the form,

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$

which are analytic in U . A function $h \in A$ is said to be in the class $S^*(\beta)$ if,

$$Re \left\{ \frac{zh'(z)}{h(z)} \right\} > \beta \quad (z \in U),$$

for some β ($\beta < 1$). When $0 \leq \beta < 1$, $S^*(\beta)$ is the class starlike functions of order β in U . A function $h \in A$ is said to be prestarlike functions of order β in U if

$$\frac{z}{(1-z)^2(1-\beta)} * h(z) \in S^*(\beta) \quad (\beta < 1),$$

where the Symbol $*$ means the familiar Hadamard product (or convolution) of two analytic functions in U . We denote this class by $R(\beta)$ (see [8]). We note that a function $h \in A$ is in the class $R(0)$ if and only if h is convex univalent in U and $R(\frac{1}{2}) = S^*(\frac{1}{2})$.

Aqlan et. al. (see [1]) defined the operator $Q_{\eta,p}^\alpha f(z) : \Sigma_p \rightarrow \Sigma_p$ by:

$$Q_{\eta,p}^\alpha f(z) = \begin{cases} z^{-p} + \frac{\Gamma(\alpha+\eta)}{\Gamma(\eta)} \sum_{k=1}^{\infty} \frac{\Gamma(k+\eta)}{\Gamma(k+\eta+\alpha)} a_{k-p} z^{k-p} & (\alpha > 0; \eta > -1; p \in N; f \in \Sigma_p) \\ f(z) & (\alpha = 0; \eta > -1; p \in N; f \in \Sigma_p). \end{cases} \tag{3}$$

Now, we define the operator $\mathcal{H}_{p,\eta,\mu}^\alpha : \Sigma_p \rightarrow \Sigma_p$ (see [4]) as follows: First; put

$$G_{\eta,p}^\alpha(z) = z^{-p} + \frac{\Gamma(\alpha + \eta)}{\Gamma(\eta)} \sum_{k=1}^{\infty} \frac{\Gamma(k + \eta)}{\Gamma(k + \eta + \alpha)} z^{k-p} \quad (p \in N). \tag{4}$$

And let $G_{\eta,p,\mu}^{\alpha*}$ be defined by

$$G_{\eta,p}^{\alpha}(z) * G_{\eta,p,\mu}^{\alpha*}(z) = \frac{1}{z^p(1-z)^\mu} \quad (\mu > 0; p \in N). \tag{5}$$

Then

$$\mathcal{H}_{P,\eta,\mu}^{\alpha} f(z) = G_{\eta,p,\mu}^{\alpha*}(z) * f(z) \quad (f \in \Sigma_p). \tag{6}$$

Using (4) - (6), we have

$$\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z) = z^{-p} + \frac{\Gamma(\eta)}{\Gamma(\alpha + \eta)} \sum_{k=1}^{\infty} \frac{\Gamma(k + \eta + \alpha)(\mu)_k}{\Gamma(k + \eta)(1)_k} a_{k-p}, \tag{7}$$

where $f \in \Sigma_p$ is in the form (1) and $(v)_n$ denote the Pochhammer symbol given by

$$(v)_n = \frac{\Gamma(v + \eta)}{\Gamma(v)} = \begin{cases} 1 & (n = 0) \\ v(v + 1) \cdots (v + n - 1) & (n \in N) \end{cases}.$$

It is readily verified from (7) that

$$z(\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z))' = (\alpha + \eta)\mathcal{H}_{p,\eta,\mu}^{\alpha+1} f(z) - (\alpha + \eta + p)\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z) \tag{8}$$

and

$$z(\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z))' = \mu\mathcal{H}_{p,\eta,\mu+1}^{\alpha} f(z) - (\mu + p)\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z). \tag{9}$$

Definition 1 : A function $f \in \Sigma_p$ is said to be in the class $\Sigma_{p,\eta}^{\alpha}(\mu, \lambda; h)$, if it satisfies the subordination condition :

$$\frac{(1 + \lambda)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z))'' + \frac{\lambda}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^{\alpha} f(z))''' \prec h(z). \tag{10}$$

In order to get the convolution results of the class of multivalent analytic functions class $\Sigma_{p,\eta}^{\alpha}(\mu, \lambda; h)$, it is necessary to put the following restrictions on the operator $\mathcal{H}_{p,\eta,\mu}^{\alpha}$:

$$\mathcal{H}_{p,\eta,\mu}^{\alpha}(f_1 * f_2) = (\mathcal{H}_{p,\eta,\mu}^{\alpha} f_1) * f_2 = f_1 * (\mathcal{H}_{p,\eta,\mu}^{\alpha} f_2), \tag{11}$$

where $f_1, f_2 \in \Sigma_{p,\eta}^{\alpha}(\mu, \lambda; h)$.

2 Some Lemmas

In order to prove our main results, we need the following lemmas.

Lemma 1 (see [6]) : Let $g(z)$ be analytic in U , and $h(z)$ be analytic and convex univalent in U with $h(0) = g(0)$. If

$$g(z) = \frac{1}{m} z g'(z) \prec h(z), \tag{12}$$

where $Re\{m\} \geq 0$ and $m \neq 0$, then

$$g(z) \prec \tilde{h}(z) = mz^{-m} \int_0^z t^{m-1} h(t) dt \prec h(z)$$

and $\tilde{h}(z)$ is the best dominant of (12).

Lemma 2 (see [9]) : Let $f(z) \prec F(z)$ ($z \in U$) and $g(z) \prec G(z)$ ($z \in U$) if the function $F(z)$ and $G(z)$ are convex in U . Then

$$(f * g)(z) \prec (F * G) \quad (z \in U). \quad (13)$$

Lemma 3 (see [8]) : Let $(\beta < 1)$, $f(z) \in S^*(\beta)$ and $g(z) \in R(\beta)$. For any analytic function $F(z)$ in U , then

$$\frac{g * (fF)}{g * f}(U) \subset \overline{Co}(F(U)), \quad (14)$$

where $\overline{Co}(F(U))$ denotes the convex hull of $F(U)$.

3 Main Results

Theorem 3.1 : If the function $f(z)$ belongs to the class $\Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$, then

$$g(z) = \frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''}{p(p+1)} \prec h(z) \quad (15)$$

and if $\lambda > 0$, then $g(z) \prec \tilde{h}(z)$, where

$$\tilde{h}(z) = \frac{(p+2)}{\lambda} z^{-\frac{(p+2)}{\lambda}} \int_0^z t^{\frac{(p+2)}{\lambda}-1} h(t) dt \prec h(z), \quad (z \in U) \quad (16)$$

the function $h(z)$ is convex univalent in U and $\tilde{h}(z)$ is the best dominant of subordination

$$g(z) \prec \tilde{h}(z) \quad (z \in U).$$

Proof :

(i) if $\lambda = 0$, the proof is trivial.

(ii) if $\lambda > 0$, let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$, then

$$\frac{(1+\lambda)}{p(p+1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'' + \frac{\lambda}{p(p+1)(p+2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''' \prec h(z). \quad (17)$$

Then by (10) and (15), we have

$$g(z) + \frac{\lambda}{(p+2)} z g'(z) \prec h(z) \quad (z \in U). \quad (18)$$

Using Lemma (1) in (18) with $m = \frac{(p+2)}{\lambda}$ and $\lambda > 0$, we get

$$g(z) \prec \tilde{h}(z) = \frac{(p+2)}{\lambda} z^{-\frac{(p+2)}{\lambda}} \int_0^z t^{\frac{(p+2)}{\lambda}-1} h(t) dt \prec h(z),$$

where $g(z)$ is given by (15).

The proof of Theorem 3.1 is complete.

Theorem 3.2 : Let $0 \leq \lambda_2 < \lambda_1$. Then $\Sigma_{p,\eta}^\alpha(\mu, \lambda_1; h) \subset \Sigma_{p,\eta}^\alpha(\mu, \lambda_2; h)$.

Proof : Suppose that $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda_1; h)$. A simple computation

$$\begin{aligned} & \frac{(1 + \lambda_2)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'' + \frac{\lambda_2}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''' \\ &= \left[1 - \frac{\lambda_2}{\lambda_1} \right] \frac{z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''}{p(p + 1)} \\ &+ \frac{\lambda_2}{\lambda_1} \left[\frac{(1 + \lambda_1)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'' + \frac{\lambda_1}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''' \right] \end{aligned} \quad (19)$$

and since $h(z)$ is a convex set. We can write (19) as follows :

$$\begin{aligned} & \left[\frac{(1 + \lambda_2)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'' + \frac{\lambda_2}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''' \right] \\ &= \left[1 - \frac{\lambda_2}{\lambda_1} \right] g_1(z) + \frac{\lambda_2}{\lambda_1} g_2(z) = \phi(z), \end{aligned}$$

where $g_1(z) \prec h(z), g_2(z) \prec h(z)$, by using definition of convex set and by Theorem 3.1, since $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda_1; h)$, we get $\phi(z) \prec h(z)$. Therefore $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda_1; h)$.

4 Integral Operator

Theorem 4.1 : Let the functions $f(z) \in \Sigma_p$ and $F(z)$ defined by

$$F(z) = \frac{(\sigma - p)}{z^\sigma} \int_0^z t^{\sigma-1} f(t) dt \quad (Re\{\sigma\} > -p),$$

if

$$\left(1 + \frac{\gamma}{p} \right) \frac{z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha F(z))''}{p(p + 1)} - \gamma \frac{z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'''}{p(p + 1)(p + 2)} \prec h(z). \quad (20)$$

Then the function $F(z) \in \Sigma_{p,\eta}^\alpha(\mu, 0; \tilde{h})$, where

$$\tilde{h}(z) = \frac{(\mu - p)}{\gamma} z^{-\frac{(\mu-p)}{\gamma}} \int_0^z t^{\frac{(\mu-p)}{\gamma}-1} h(t) dt \prec h(z). \quad (21)$$

Proof : Let us define

$$G(z) = \frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))''}{p(p+1)}, \tag{22}$$

then $G(z)$ is analytic in U , $G(0) = 1$ and

$$\frac{zG'(z)}{(p+2)} = G(z) + \frac{z^{p+3}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))'''}{p(p+1)(p+2)}. \tag{23}$$

Making use of (20), (22), (23) and by

$$(\sigma p - p)f(z) = \sigma(p+2)F''(z) + zF'''(z).$$

Then

$$\begin{aligned} & \left(1 + \frac{\gamma}{p}\right) \frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))''}{p(p+1)} - \gamma \frac{z^{p+3}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))'''}{p(p+1)(p+2)} \\ &= \left(1 + \frac{\gamma}{p}\right) \frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))''}{p(p+1)} \\ & - \frac{\gamma}{(\sigma p - p)} \left[\frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))''}{p(p+1)} + \frac{z^{p+3}(\mathcal{H}_{p,\eta,\mu}^\alpha F(z))'''}{p(p+1)(p+2)} \right] \\ &= G(z) - \frac{\gamma}{(\sigma p - p)(p+2)} zG'(z) \\ &= G(z) + \frac{-\gamma}{(\sigma p - p)(p+2)} zG'(z) \prec h(z). \end{aligned}$$

Then $G(z) \prec \tilde{h}(z)$, where $\tilde{h}(z)$ is given by (21), and thus $F(z) \in \Sigma_{p,\eta}^\alpha(\mu, 0; \tilde{h})$.
The proof is complete.

5 Convolution Properties

Theorem 5.1 : If $f_j(z) \in \Sigma_{p,\eta}^\alpha\left(\mu, \lambda; \frac{1+A_jz}{1+B_jz}\right)$ ($j = 1, 2$) and let the operator $\mathcal{H}_{p,\eta,\mu}^\alpha$ satisfy the condition (11). Then each of the following inclusion relationship holds true:

$$G(z) = \frac{(1+\lambda)}{p^2(p+1)^2} z^2(\mathcal{H}_{p,\eta,\mu}^\alpha(f_1'' * f_2'')(z)) + \frac{\lambda}{p^2(p+1)^2(p+2)^2} z^3 \times$$

$$(\mathcal{H}_{p,\eta,\mu}^\alpha(f_1''' * f_2''')(z)) \in \Sigma_{p,\eta}^\alpha\left(\mu, \lambda; \left(\frac{1+A_1z}{1+B_1z}\right) * \left(\frac{1+A_2z}{1+B_2z}\right)\right) \tag{24}$$

$$h(z) = \frac{z^2(\mathcal{H}_{p,\eta,\mu}^\alpha(f_1'' * f_2'')(z))}{p^2(p+1)^2} \in \Sigma_{p,\eta}^\alpha\left(\mu, \lambda; \left(\frac{1+A_1z}{1+B_1z}\right) * \left(\frac{1+A_2z}{1+B_2z}\right)\right) \tag{25}$$

and

$$\frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha h(z))''}{p(p+1)} \prec \left(\left(\frac{1+A_1z}{1+B_1z} \right) * \left(\frac{1+A_2z}{1+B_2z} \right) \right). \tag{26}$$

Proof : Since $f_1(z) \in \Sigma_{p,\eta}^\alpha \left(\mu, \lambda; \left(\frac{1+A_1z}{1+B_1z} \right) \right)$ and $f_2(z) \in \Sigma_{p,\eta}^\alpha \left(\mu, \lambda; \left(\frac{1+A_2z}{1+B_2z} \right) \right)$. Then

$$\frac{(1+\lambda)}{p(p+1)} z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha f_1(z))'' + \frac{\lambda}{p(p+1)(p+2)} z^{p+3}(\mathcal{H}_{p,\eta,\mu}^\alpha f_1(z))''' \prec \left(\frac{1+A_1z}{1+B_1z} \right) \tag{27}$$

and

$$\frac{(1+\lambda)}{p(p+1)} z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha f_2(z))'' + \frac{\lambda}{p(p+1)(p+2)} z^{p+3}(\mathcal{H}_{p,\eta,\mu}^\alpha f_2(z))''' \prec \left(\frac{1+A_2z}{1+B_2z} \right) \tag{28}$$

and from (27), (28) and Theorem 3.1, we have

$$\frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha f_1(z))''}{p(p+1)} \prec \left(\frac{1+A_1z}{1+B_1z} \right)$$

and

$$\frac{z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha f_2(z))''}{p(p+1)} \prec \left(\frac{1+A_2z}{1+B_2z} \right),$$

by using (11), (27), (28) and Lemma 2, in conjunction with the technique used before, we have

$$\begin{aligned} & \frac{(1+\lambda)}{p(p+1)} z^{p+2}(\mathcal{H}_{p,\eta,\mu}^\alpha G(z))'' + \frac{\lambda}{p(p+1)(p+2)} z^{p+3}(\mathcal{H}_{p,\eta,\mu}^\alpha G(z))''' \\ &= \frac{(1+\lambda)}{p(p+1)} z^{p+2} \left(\mathcal{H}_{p,\eta,\mu}^\alpha \left[\frac{1+\lambda}{p^2(p+1)^2} z^2(\mathcal{H}_{p,\eta,\mu}^\alpha (f_1'' * f_2'')(z)) \right. \right. \\ & \quad \left. \left. + \frac{\lambda}{p^2(p+1)^2(p+2)^2} z^3(\mathcal{H}_{p,\eta,\mu}^\alpha (f_1''' * f_2''')(z)) \right] \right)'' \\ & \quad + \frac{\lambda}{p(p+1)(p+2)} z^{p+3} \left(\mathcal{H}_{p,\eta,\mu}^\alpha \left[\frac{(1+\lambda)}{p^2(p+1)^2} z^2(\mathcal{H}_{p,\eta,\mu}^\alpha (f_1'' * f_2'')(z)) \right. \right. \\ & \quad \left. \left. + \frac{\lambda}{p^2(p+1)^2(p+2)^2} z^3(\mathcal{H}_{p,\eta,\mu}^\alpha (f_1''' * f_2''')(z)) \right] \right)''' \\ & \prec \left(\left(\frac{1+A_1z}{1+B_1z} \right) * \left(\frac{1+A_2z}{1+B_2z} \right) \right). \end{aligned}$$

Hence

$$G(z) \in \Sigma_{p,\eta}^\alpha \left(\mu, \lambda; \left(\frac{1+A_1z}{1+B_1z} \right) * \left(\frac{1+A_2z}{1+B_2z} \right) \right),$$

and

$$h(z) \in \Sigma_{p,\eta}^\alpha \left(\mu, \lambda; \left(\frac{1 + A_1 z}{1 + B_1 z} \right) * \left(\frac{1 + A_2 z}{1 + B_2 z} \right) \right).$$

The proof of (24) and (25) is complete, we again proceed in a similar manner and apply Lemma 2, we obtain

$$\begin{aligned} & \frac{(1 + \lambda)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha h(z))'' + \frac{\lambda}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha h(z))''' \\ & \prec \left(\frac{1 + A_1 z}{1 + B_1 z} \right) * \left(\frac{1 + A_2 z}{1 + B_2 z} \right), \end{aligned} \tag{29}$$

where $h(z)$ given by (25) and from (29) and Theorem 3.1 we have the proof of (26) and the proof is complete.

Theorem 5.2 : Let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$, $w(z) \in \Sigma_p$ and

$$Re\{z^p w(z)\} \geq \frac{1}{2} \quad (z \in U). \tag{30}$$

Then $(f * w)(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$.

Proof : Let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$ be given (1) and $w(z) \in \Sigma_p$, we have

$$\begin{aligned} & \frac{(1 + \lambda)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha (f * w)(z))'' + \frac{\lambda}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha (f * w)(z))''' \\ & = \frac{(1 + \lambda)}{p(p + 1)} [z^p w(z) * (z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'')] \\ & + \frac{\lambda}{p(p + 1)(p + 2)} [z^p w(z) * (z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))''')] \\ & = \{z^p w(z)\} * H(z), \end{aligned} \tag{31}$$

where

$$H(z) = \frac{1 + \lambda}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'' + \frac{(\lambda)}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha f(z))'''. \tag{32}$$

In view of (30), the function $z^p w(z)$ has the Herglotz representation

$$z^p w(z) = \int_{|x|=1} \frac{dp(x)}{1 - xz} \quad (z \in U), \tag{33}$$

where $p(x)$ is a probability measure defined on the unit circle $|x| = 1$ and $\int_{|x|=1} dp(x) = 1$. Since $h(z)$ is convex univalent in U , it follows from (31) to (33) that

$$\begin{aligned} & \frac{(1 + \lambda)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha (f * w)(z))'' + \frac{\lambda}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha (f * w)(z))''' \\ & = \int_{|x|=1} H(xz) dp(z) \prec h(z). \end{aligned}$$

Then $(f * w)(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$.

Corollary 5.1 : Let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$ be given by (1) and let

$$Re \left\{ 1 + \sum_{k=1}^{\infty} \frac{\delta}{\delta + k} z^k \right\} > \frac{1}{2}.$$

Then

$$F_{P,\delta}(f)(z) = \frac{\delta}{z^{p+\delta}} \int_0^z t^{p+\delta-1} f(t) dt \quad (\delta > -p),$$

is also in the class $\Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$.

Proof : Let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$ be defined in (1). Then,

$$\begin{aligned} F_{P,\delta}(f)(z) &= \frac{\delta}{z^{p+\delta}} \int_0^z t^{p+\delta-1} f(t) dt = z^{-p} + \sum_{k=1}^{\infty} \frac{\delta}{\delta + k} a_{k-p} z^{k-p} \\ &= \left(z^{-p} + \sum_{k=1}^{\infty} a_{k-p} z^{k-p} \right) * \left(z^{-p} + \sum_{k=1}^{\infty} \frac{\delta}{\delta + k} z^{k-p} \right) \\ &= (f * F)(z), \end{aligned} \tag{34}$$

where

$$F(z) = z^{-p} + \sum_{k=1}^{\infty} \frac{\delta}{\delta + k} z^{k-p} \quad (\delta > -p),$$

and belong to Σ_p . We note that

$$Re\{z^p F(z)\} = Re \left\{ 1 + \sum_{k=1}^{\infty} \frac{\delta}{\delta + k} z^k \right\} > \frac{1}{2} \tag{35}$$

by (34), (35) and by Theorem 5.2, thus $F_{P,\delta}(f)(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$.

Theorem 5.3 : Let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$ be defined in (1), $w(z) \in \Sigma_p$ and $z^{p+1}w(z) \in R(\beta)$ ($\beta < 1$). Then $(f * w) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$.

Proof : Let $f(z) \in \Sigma_{p,\eta}^\alpha(\mu, \lambda; h)$ and $w(z) \in \Sigma_p$, from (31), we have

$$\begin{aligned} &\frac{(1 + \lambda)}{p(p + 1)} z^{p+2} (\mathcal{H}_{p,\eta,\mu}^\alpha(f * w)(z))'' + \frac{\lambda}{p(p + 1)(p + 2)} z^{p+3} (\mathcal{H}_{p,\eta,\mu}^\alpha(f * w)(z))''' \\ &= \frac{(z^{p+1}w(z)) * (zH(z))}{(z^{p+1}w(z)) * z} \quad (z \in U), \end{aligned} \tag{36}$$

where $H(z)$ is defined as in (32).

Since $h(z)$ is convex univalent in U .

$$H(z) \prec h(z), \quad z^{p+1}w(z) \in R(\beta), \quad z \in S^*(\beta) \quad (\beta < 1).$$

It follows from (36) and Lemma 3, we get the proof.

References

- [1] E. Aqlan, J. M. Jahangiri and S. R. Kullarni, Certain integral operators applied to meromorphic p -valent functions, *J. Nat. Geom.*, 24 (2003), 111-120.
- [2] T. Bulboaca, Differential subordinations and superordinations, *Recent Results*, House of Scientific Book Publ., Cluj-Napoca, (2005).
- [3] F. Ghanim and M. Darus, A new class of meromorphic functions related to Cho-Kwon-Srivastava operator, *Mathematics Bechnk*, (2012), 1-10.
- [4] P. He and D. Zhang, Certain subclasses of meromorphically multivalent functions associated with linear operator, *Applied Mathematics Letter*, 24 (2011), 1817-1822.
- [5] A. O. Mostafa, Inclusion results for certain subclasses of p -valent meromorphic function associated with a new operator, *Journal of Inequalities and Applications*, doi. Co., (2012), 1/14-14/14.
- [6] S .S. Miller and P.T. Mocanu, Differential Subordination and univalent function, *The Michigan Mathematical Journal*, 28(2) (1981), 157-172.
- [7] S. S. Miller and P. T. Mocanu, *Differential Subordinations :Theory and Applications*, Series On Monographs and Textbooks in Pure and Applied Mathematics, Vol. 225, Marcel Dekker, Inc., New York and Basel, 2000.
- [8] S. Ruscheweyh, *Convolution in Geometric function theory*, les presses del universite demontreal, (1982).
- [9] S. Ruscheweyh and J. Stankiewicz, Subordination under convex univalent functions, *Bull. Polish Acad. Sci. Math.*, 33 (1985), 499-502.

Received: January 10, 2013